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EXAMINATION FOR THE RECRUITMENT OF ASOs 2021
EXAVINATIE * =
THE HIGH COURT OF ORISSA
SUBJECT : ENGLISH

I Mark : 100 Duration : 2 Hours
Full Mark :
Answer All The Questions

1. Write an essay on any one of the topic given below : 20
(@) Surrogacy and the ethical dilemma
(b) COVID 18 and economic challenges before India

(c) Social Networks and the security threats

/._./ Write a précis of the given paragraph [within 100 words] : 15

The basic core of evolution — survival and reproduction has been proven over and
re Lo v feucHa 4o ewfrm,. SH"'\AJ.

over through our various behavioral patterns. j_et&fefrogradeandexpforewrmat are

som&emecepxs&hat—have'been"perfonned by humans before Us and how did

itoccur. Iﬁ!mo%@érﬁ@“ammasthetendeney{meact to certain stimuli for survival.

This reaction to each and every situation has an evolutionary basis of adaptation.

The study of human emotions dates back to the 19th century and psychologists have

since then discovered many reasons for every emotion, yet these are just theories.
E Fory ate 1mdine) by d‘ih-f w\'}u\_u o L DHey udw

Theﬂousal of émonons and their assumed structuresis said tosccur due to repeated

bn gdnlbdi- o
encounters with a situation followed by the adaptation of the encounter. Human

emotions have been linked to adaptively regulate emotion-gathering mechanisms.
The emotion 6f fear which is associated with ancient parts 6fth'e braiﬁ has presumably
- evolved among our pre-mammal ancestors while the emotion of a mother’s love
called the ‘filial emotion’ has seen to evolve among early mammals&arious emotions

work as manipulative strategies that favour survifl]. Feigning emotions by an accused

person may help him be saved from the punishment. An exaggerated display of anger
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meone. Despite there being

is also associated with manipulating or threatening SO -
st interesting emaotion 1s the

[ ironi 0
several emotions for various events, ironically the m |
l ses a danger to the immunity

emotion of disqust. Disgust s aroused when the body sen '
ry is associated with alerting

or the physiology of the human. The disgusted memo
few studies have shown that the

the brain of a potentially dangerous substance. A

‘ : ; her
encoding triggered in adaptive memory for problems Is stronger than any ot
behaviour. This makes us instantly have a disgusted expression at the sight of

something that makes us uncomfortable or uneasy. These expressions are also closely

linked to self-protective comm unication.

Anslate the passage to English : / 25
‘ e  ONYowso
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RIQG SERIAR YIR AINER HINERR DrTCOLER 964 ARIQ QIR L° QIS B! &6R |

v Heag todm
R dorgdaca Ol FIRIaQIee, o494 6CNEH, 2eaIR 9 dO9gYT A2 9PR @QIKIRAIER | 69
W\

Spbraald Wit~ aued Denmaer gy
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21968 §IRERRG FI6R QHIAINAIN | 2ISIGM FI6Rd 650 QARG gﬁ‘; QRITIQ Ziga
62108 | W8 dPI6RsEa QRNTR, FRITR, QIIQ 1e° Q96004 OR 650 QseonReq
RLIA CIFR PRI goIR AN gaie @9 | 609 2Igeca 69 90T R AoQ
2ISE6R G121 1 6F6R AR YIS GAIE | 69609 QQIRAIER Ao S23 6d 69 Q64 6g0INA
&7 6R 1 91T AZAIP QIGI FFAEA FRITINAIG 62 492 99 650 gINERL gRl 1 933 6Q

P64 657 Y6R GIRELR AR uF TGIA1 RURAISH Q2-gAa (e9la QRuIQ1) 9 QIgE

geoe go aeedie 26m |
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aragraph to Odia 20

4 Re-Translate the given P

. ital markets, both primary and secondary, only low levels of technology are in
n capi :

use. In primary markets the lack of computerization and communication facilities
results in long delays in the finalization of subscription of new issues. The Bombay
and National Stock Exchanges have recently adopted screen based trading. At the
lower end of banking, that is, rural banking, many of these tecﬁnologies may not have
relevance except for the wealthy, at least for a decade or more. The problem in the
bulk of our village communities is to generate money and make it available to workers,
not merely for their subsistence but to_carry out some economic activities of their
own ‘with small investments. Financial or lending systems for such poor rural folk
could be patterned on the ‘Grameen Bank Systems’, successfully operated in
Bangladesh. Rural telephoné access either through RAX (Rural Exchanges) systems

developed by C-DoT or through wireless in the loop systems will be useful in extending

the range of operations.

5. Doasdirected: . (20)
(i) Since he failed to pay his rent on time the landlord denied him access to the

premise. [replace the underlined phrase if required to make it grammatically
correct]

(a) accesstopremise -+

(b) toaccessthepremise ,

(c) to access the premises

Jd) access to the premises

(e) No correction required |,
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(i)

Hay;
ng lifte '
d the heavy bag, | W [replace the

nderlmed
Phrase if required to make it grammatically correct]

(a
) Suffereg from a Server paij
in

(b)

Was suffereq asevere pain
©) wa i

S Suffering the Severe pain +«

(d)

Suffered the Severe pain

&) No Correction required

I prefer writing

————— __ink.[fillthe blank]

(@)  with
on
(C) in ® ‘)((‘::/-b
y =
(iv)) She often
p 99t5-~—____her husband's nerves. [ fill the blank ]
(@ to
: (B) uw «
(d) on
}@/ Which Syllable is stressed in the word ‘Ordinary’ ?
(a) ordmary '
AbY™ ordinary
(c) ordinary o d)  ordi
inary .,
(vi) -

(a) Alphabet
Sg}/‘ Punctuation

ofthe highlighteq word]

(@)  Wickeq
(c) Inhuman - SMiied
1 () Selfish
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@, There wasn't a single bibulous adventurer in our expedition. [ choose the

opposite of the highlighted word)

(a)
(@)

fearful . - (b) cowardly

sober :
unenergetic

(x) Whomdoes he look for ? [ change the voice and choose the correct option]

(@)
(b)

Whom he is looked afier for ?
Who is looked after for him ? 0

Who is looked for by him ?

Whom he looked after by? «

(x) Do you understand what | mean ? [ change the voice and choose the correct

option]

(@)
(b)
e
(d)

What | mean is that understood by you ?
Was what | mean understood by you ? ¢

Is what I mean understood byyou? r

What | mean is understood by you ? +

(xi) “What about going for a swim” he said, “it's quite fine now.” [choose the direct/

indirect expression]

(a) H;; asked me what about going for a swim as it was quite fine then.

(b) He proposed going for swim as it was quite fine.

\(9( He suggested going for a swim as it was quite fine.

d) He advised me to go for a swim as it was quite fine. »
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(xii) Rajan said,"0 ‘that | were a child again.”
(@) Rajan exclaimed with wonder that he ¥
(b) Rajan V\{ondered that were he a child again-
{ey” Rajan strongly wished that he had been @ child

(d) Rajan prayed that he were a child again.

agaiﬂ.

(xiii) Please, stop so many mistakes: [ fill the blank]
(a) tomake (b) make
9/ making (d) makes
(xiv) Idon'tagree your proposal. [ fill the blank ]
Jfa) win ; (b) for
() to (d) in
@ HAGGLE [choose the nearest synonym of the given word]
(a) Postpone * (b) accept
(d) reject

\/LO)' bargain

(vi) ABSTRUSE [choose the nearest synonym of the give
\Sb) irrelevant

n word]

(a) awful ,
(c) shallow
(xvii) The captain along with his team/are practicing very hard / for the / forth coming

(d) profound

matches.[ identify the error]

(a) the captafn along with his team
by are practicing very hard

(c) forthe
(d) forth coming matches

(e). noerror
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(xviii) Supposing if/ it rains / what shall/ we do. | identify the error]
(8)" supposing if
(b) itrains
(c) whatshall
(d) wedo

(e) noerror

(b) as long as

(d) noerror

5 { i _
/Qr/ﬁ Idon'thave acar/ang | don'twant/one as well. [identify the error]

(@) Idon't haveacar .. (b) and | don't want

r
(€) oneas well No error
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etermofag ies i _ .
10" term, P series is 28 and their progyct I8 512 then

.,5./ As the price of petrolis i
r

find the

each of the cock-owners have.

/Z. Ahollow cone is cut by a plane by parallelto the base and the upper portion is removed,
If the curved surface of the reminder is 8/9 of the Curved surface of the whole cone.

Find the ratio of the line-segment into which the cone’s aftityge is divided by the
plane.
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In a potato race g
parsprgiee other:‘):t:f::: : :'aI::d at the starting point, which is 5m from the first
in the line. Each competitor st:rt fi 3m apartin a siraightline. There are n potatoes
oscbsiieickonsibin sk s from the bucket, picks of the nearest potato. runs
s dr-c. o ucket, runs back to pick up the next potato, runs ;o th

p itin the bucket, and she continue in the same way until all potatoes .
are

in the bucket. What is the total distance the competitor has to run ?

A two digit number is obtained by eithgr multiplying sum of the digits by 8 or adding
1 or by multiplying the difference of the digits by 13 and adding 2.Find the number.

0. Byselling 400 articles, a man lostthe S.P of 30 articles. Had he purchased them for

Rs. 537.50, what would have been the S.P of 20 articles ?

h 14 The mean _of the following frequency table is 50. But the frequencies f 1 andf2in
. class 20 — 40 and 60 - 80 are missing. Find the missing frequencies :
Class Frequency
0-20 A7 % ok
V\’L
20-40 f1 o’
40 - 60 32 "
60— 80 f2 .
, A\
\ 0’

120

Total ¥
\ %

aves reminders 8 and 12 when divided by 28 and

Find the smallest numberwhich le

ectively.

32 resp
m and 20cm, is made to revolve about its

A right triangle, whose sides are 15¢C
; d the volume and surface area of the double cone so formed (use

pypotenuse: F1f

I =3, 14)
mber which when divided by 5,6,8,9,12 gives reminder 1 in each

i t nu
@ what IS leas o
' ase and is completely divisible by 13 ?
c - .
cover of radius 32cm, a design is formed leavi
leaving an equi
eQUllateral

n a circular table
Find the area of the design.

15 0 : ddi
(riangle in the midde:
; q,b"b i

a - {2) ‘\l‘!‘ r

blfl-

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

(_)Aee sets of English, Mathematics and Science books contiaining 336, 240 and 06
books respectively have to be stacked in such a way that all the books are storod
L]

subject-wise and in each stack number of books is the same. Find the minimum

N

number of stack used.

\}7'/ 1200 soldiers in a fort had enough food for 28days. After 4 days some soldiors were

transfen-ed to another fort and thus food lasted now for 32 more days. How many
Soldiers let the fort ?

. Fi . : , -
)8 ind the rate of interest at which Rs. 80,000 will amount to Rs. 1,15,600 in two years.

1 Aa ; .
S nd B can finish a piece of work in 36 days; B and C in 24 days; C and A in 18

days. In h : g
YS. In how many days will they finish it if they work together and if they work
vepanstaly? k. e Wi

23./A man who ; )
ose bowling average is 12.4 takes 5 wickets for 26 runs and there by

decre ' :
ases his average by 0.4. Find the number of wickets taken by him before his
last match. L5

oD 8

<
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